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1.  The Departmental Council of the Ministry of
Railways deals with matters affecting the
{a) Staff employed in Zonal Railways
(b) Staff of Railway Board
(c)  Staff of Central Government
(d) Staffinvolved in arbitration cases
The Railway Board was constituted in 1905
under
{a) an Act of the Parliament of India
(b) aresolution of the Government of India
{¢) astatute passed by the UK Government
(d) the Rules of Procedure of Conduct of

Business in Lok Sabha

3. Who determines agenda for meetings of the
Railway Board ?
(a) Secretary, Railway Board
(b) Secretary, Railway Board in

consultation with Board Members

{¢) Financial Commissioner, Railway Board
(d) Chairman, Railway Board

4.  Rules for transaction of Government business
are issued by
(a) Prime Minister’s Office
(b) Lok Sabha
(c) Cabinet
(d} President of India
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In case Financial Commissioner (Railways)
does not agree with Board and Minister of
Railways on a matter of finance, he can refer
the case directly to

{a) Prime Minister
{(b) Finance Secretary
{(¢) Finance Minister

{d} None of the above

At the close of the budget debates and the
voting for demands, who will draw up a list of
the cuts, if any, made by the Parliament in
the required demands ?

(a) Minister of Railways

(b) Financial Commissioner, Railway Board
{(¢) Chairman, Railway Board

(d) Secretary, Railway Board

The slip ‘Paper Under Consideration’ should
be attached to

(a) Fresh Receipt

(b) Primary Receipt

(c) Subsidiary Receipt
{(d) Referencing Receipt

Which of the following receipts are nof to be
diarised in the Section diary ?

1. Casual Leave applications

2. Identical copies of representations, save
_the one received first

3. Routine acknowledgements

4. Receipts which are diarised in a computer

Select the correct answer using the code given
below :

(a) 1 and2only
(b} 2 and4only
(¢} 1andd4only
(d) 1,2,3and4
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9. A motion for an adjournment of the business | 12.
of th‘le Lok Sabha for the purpose of discussing
a definite matter of urgent p}lblic importance
may Ibe made with the consent of the
{a) | Minister of Railways
(b) | Minister of State for Railways
() i Deputy Speaker, Lok Sabha
) %Speaker, Lok Sabha
|
10. The functions of the National Railway Users’
Consultatlve Council are to consuier matters
1. ‘relatlng to appointment of Railway Staff 13.
2. relating to discipline of the Staff
3. ‘irelating to services and facilities
provided by the Railways
4.  within the scope of therifunction’;of ‘the
Zonal Committees
!
Which of the above are correct ?
(a) 1land3only
|
(b) 2 and 4 only 14.
(¢) 2and3only
(d) é and 4 only
11. The Railway Rates Tribunal has no
jurisdiction in respect of
i
1. Fixation of lump sum rates
2. Classification or re- cIasmﬁcatlon of any
commod1ty
3. &xatlon of wharfage and demufrra’gei 15.
charges
Which (i)f the above are correct ?
(2) 1and2only
(b) 2'and 3 only
() 1'and 3 only
(d) 1/2and3
i
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The RDSO functions as

(a) Technical Adviser to Ministry , of

Railways |
'\

(b) Chief Controller to Ministry of Railways

(¢) Executive Engineer to Mmlstry of
Rallways
(d) Liaison with the DGS&D for Ministry of

Railways

Estate Supervisor in Railway Board functions
under the supervision of

(a) Chairman, Railway Board
(b) Member (Mechanical)

(¢) Member (Staff)

(d) Secretary, Railway Board -

Proposals for procurement of new staff cars m
Railway Board are processed by :

{a) Director, Mechanical i
(b) Inspector of Works |
(¢) Stationery Branch

(d) Transport Inspector

How many parts does a Standing Guard File
consist of ?

(a) Two
(b) Three
(¢) Four
(d) Five
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16.

The Government Assurances Committee shall
consist of not more than

(a) 15 members
{b) 20 members
{¢) 25 members

(d) 30 members

17, The members in the NRUCC are appointed
by
(a) Secretary, Railway Board
(b)  Minister of Railways
(¢) Speaker, Lok Sabha
(d) Cabinet
18. Progress report relating to use of Hindi in a
Ministry is required to be submitted to the
Department of Official Language
(a) oncein a year
-(b) every six months
(¢) everythree months
(d) every month
19. Official Language Implementation Committee
has to be constituted in all Central
Government Offices having
(&) more than 25 staff
(b) more than 50 staff
(c) more than 100 staff
- {(d) more than or equal to 25 staff
20. Which Article of the Constitution of India
says that the official language of the Union
shall be Hindi in Devnagari script ?
{a) 210(1)
{b) 343(1)
() 120(1)
(dy 120(2)
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21.

22,

23.

24.

A)

What 1is
Control’ ?

(a) Issue of quarterly/monthly cash
authorisation to Disbursing Officers

(b) Accurate assessment
requirement of cash

(¢) Concurrent control of cash outgo by
each Disbursing Officer

(d) All of the above

‘Implementation

of Exchequer

of quarterly

Files which qualify for permanent
preservation for administrative purposes and
which have to be microfilmed are classified
under Class

(a) A
(i) B
(¢ C
(dy D

Advance from Provident Fund to meet the
cost of legal proceedings instituted by or
against the subscriber and also to meet the
cost of defence wherever engaged to defend
himself in any enquiry is permissible. What is
the maximum amount permissible for
drawing advance from Provident Fund ?

(a) Not exceeding six months’ pay or half

the amount to the subscriber’s credit
(b) Not exceeding eight months’ pay

(¢) Not exceeding three months’ pay or half
the amount to the subscriber’s credit,
whichever is less

(d) Any amount can be drawn without limit

Consider the following allowances :

1. Daily Allowance

2. Mileage ( kilometrage) Allowance
3. Conveyance Allowance

4, Actual cost of travelling

Which of the
Allowances ?

(a) 2and 3only
(b} 1,2 and4only
{c) 1,3 and4 only
(d) 1,2,3and+4

above are Travelling
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17,

18.

19.

20.
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25,

26, The payments in respect of cheques and bills,
on receipt from RBI, CAS, Nagpur are
adjusted as
(a) Dr cheques and bills and Cr to Reserve

Bank deposit (Railway)

{b) Dr cheques and bills and Cr to Public
Sector Bank Suspense

{(¢) Dr cheques and bills and Cr to Reserve
Bank Suspense

| (d) Dr cheques and bills and Cr to
Remittance into bank
27. Consider the following statements in respect
: of Terminal Tax ;

1.  Itis a charge on rail borne traffic, levied
for the benefit of States or Local
Authorities or both and is collected by
the Railway Administration under an
agreement with them.

2. In the case of passengers this is levied
for pilgrim stations on behalf of
States/Municipalities and is known as
Pilgrim Tax.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

" (¢} Bothland2

(d) Neither 1 nor 2

B-RP/WX-0-BB. (8-

Demand No. 1 and Demand No. 2 form a part
of

(a) Miscellaneous Expenditure

(b)  Ordinary Working Expenditure
{c) Appropriation to Railway Funds
(d) Working Expenses

28.

29,

30.

A)

The DRF is charged with

(a) only the original cost of the asset
replaced

(b)  the original cost plus the inflation of the
asset replaced

{c) the inflated cost plus the improvement
element of the asset replaced

(d} the entire replacement cost of the asset

Consider the following in respect of NRUCC :

1. The Council may ordinarily meet at
least twice a year.

2. The Minister of Railways presides at
the meetings of the Council.

Which of the above statements is/are correct ?
(a) 1lonly

(b 2only

(¢} Bothland?2

{(d) Neither 1 nor2

Departmental Council
presided over by

for Railways is

(a) General Manager of the Zonal Railway
concerned

(b) Member (Staff), Railway Board
(¢) Chairman, Railway Board

{(d) Chief Personnel Officer of the Zonal
Railway concerned
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31. Consider the following 1in respect of

Development Fund :

1. It is credited with the amounts
appropriated to it each year from the
surplus or otherwise.

2. It is credited with the amount of interest
earned on the balance of the Fund.

Which of the above statements is/are correct ?

{a) 1only

(b) 2only

(¢} Both1land2

(d) Neither 1 nor 2

32. Consider the following statements :

1. Each Demand has two-way classification.

2. Demands No. 1, 2 and 3 are in the nature
of general on-cost.

3. There is a single works Demand for all
works Expenditure irrespective of source
of financing.

* Which of the above statements are correct ?

(a) 1and2only

(b) 2and3only

(¢) 1and3only

(d) 1,2and3

33. While checking the proposal for Track

Estimates which of the following points are

kept under consideration ?

1.  Whether secondary or primary renewal

2. Wear and tear of rails, sleeper in terms

of IRPWM

3. Quantity assessment of Ballast in terms

of IRPWM

Select the correct answer using the code given

below :

{a) 1only

(b) 2 and3only

{¢) 1,2and3

{d) 1and3only
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34.

35.

36.

37.

(10—A)

Development Fund (DF) is maintained in four
parts

1. DFI —  Passenger Amenities and
other Railway Amenities
2. DFII -  Labour Welfare Works
DFIII -  Operational efficiency
important works
4, DFIV -  Safety Works

Which of the above are correctly matched ?
(a) 2and 3only

(b) 1,2 and4only

{(c) 1,83 and 4 only

(d) 1,2,3and4

Test of Financial Remunerativeness is
necessary far

(a) Track Renewal Works
(b) Staff Quarters Works
(¢) Line Capacity Works

(d) Private Siding Works

The annual  Appropriation  Accounts
submitted by Railways will be scrutinized by
which one of the following Parliamentary
Committees, before its placing before the
Parliament ?

{a) Railway Estimates Committee
(b) Railway Convention Committee
(¢) Parliamentary Affairs Committee
(d) Public Accounts Committee

Which one of the following is classified as
‘Sundry Earnings’ for Railways ?

(a) Sale proceeds of damaged Railway
coaches

(b) Earnings from luggage and parcels

(¢) Earnings from excess fare collected from
ticketless passengers

(d) Earnings from commercial publicity
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38. In most of the Investment Proposals by
Railways, which one of the following methods
is adopted to work out financial viability ?

(a) DCF Technique

(b} Annual Yield of Return Method
(¢) Conventional ROR Method

(d) None of the above

39. Which one of the following expenditures
incurred by Railways is no# the ‘Charged
Expenditure’ of Budgetary document ?

(a) Pay and allowances paid to Statutory
Audit under CAG

{b) Any expenditure made to satisfy any
judgement pronounced by Hon'ble
Courts of Law

(¢) Expenditure made on Research, Designs
and Standards Organisation (RDSQ),
Lucknow

{(d) All of the above

40, The Re-appropriation of funds from one grant
to another grant if required can be done by
the
(a) President of India
(b) Parliament
{(¢) Railway Board
(d) General Manager of Zonal Railway

concerned

41. The present rate of return to decide upon a
New Project being financially justified is
(a) 10%

(b} 12%
(c) 14%
(d) None of the above

B-RP/WX-0-BB.

42,

43.

44.

45.

(12-A)

(d)

Consider the following :

Railways may take up proposals without
financial justification if the expenditure is to
be

1. made on considerations of safety.

2. incurred on labour welfare works
(except residential buildings).

Which of the above is/are correct ?
(a)
(b) 2only

{¢) Both1land?2

1 only

(d) Neither 1 nor 2
Which one of the following is the
‘Non Government Railway’ working in

association with Indian Railways ?

(a) Pipavav Railway Corporation Limited
(PRCL)
(b) Dethi Metro Rail Corporation (DMRC)

(¢) Rail Tel Corporation Limited (RAIL
TEL)

(d) Dhamra Port Company Limited (DPCL)

Indian Railways follow which model of
Budgeting ?

(a)
(b)
(c)  Zonal Railway-wise Budgeting
(d)

Programme Based Budgeting
Zero-Base Budgeting

Performance Budgeting

The main responsibility/responsibilities of the
Finance Department in Railways is/are :

(a) To manage the operations and
maintenance of passenger and goods
traffic

(b)

To make plans and decisions on assets
creation

(¢) To assist the administration in working
out financial viability of investment
proposals - and managing Railway
finances

All of the above
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(d) 1,2and3
47. Repairs and maintenance of Railway stock are
to be provided under
(a) Demand No. 5 and Demand No. 8
(b} Demand No. 7 and Demand No. 8
(¢} Demand No. 8 and Demand No. 7
.(d) Demand No. 5 and Demand No. 8
48. Who will bear/share the expenditure on cost of
State Government (Railway) Police deployed
at Railway stations and on trains ?
(a) 100% by the State Government
- concerned
(b} 100% by the Railways
(¢) 75 : 25 basis between Railways and the
State Government concerned
(d) 50 : 50 basis between the Railways and
the State Government concerned
48. Director of Railway Audit communicates
objections through which of the following
formats ?
(a) Special Reports
(b) Audit notes
() Inspection Reports
(d) All of the above
B-RP/WX-O-BB. (14 -

Consider the following :
1. RITES

2. CONCOR

3. DFCCIL

Which of the above are
Enterprises under
Organisation ?

(a) 1and 2only
(b) 2and 3 only
(¢) 1land3only

Public Sector

Indian Railways

50.

bl

b2.

A)

Which one of the following statements is
correct in respect of Service Tax ?

(a} Service Tax is not payable by Railways
- since it is a part of Central Government.

{b)  Service Tax is fully payable by Railways
as anybody else.

(¢)  Service Tax is payable by Railways but
refunded by the Central Government at
the close of the year.

(d} Service Tax is partially payable by
Railways as prescribed by the Central
Government,

Transactions which are adjusted between
Revenue and Capital Accounts and between
two Accounting Units within the same
Railway are known as

{a) Intra Railway transactions

(b) Inter Railway transactions

{c}  Divisional transactions

(d) Earnings transactions

Which of the following are the duties of
Statutory Audit (CAG) attached to Railways ?

1. Examining all expenditures made by
Railways chargeable to Consolidated

Fund of India

2, Inspecting any office of accounts in
Indian Railways

3. Internal check of bills and claims

4, Certifying annual Appropriation
Accounts of Railways

Select the correct answer using the code given
below :

(a) 1and?2only
(b) 2and4only
{(¢) 1,2and4 bnly
(d) 1,3 and4 only
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53. Amﬂrltization of over-capitalization is a part of
{a) lDemand No. 14
() Demand No. 16
(¢} Demand No. 15

(d) i)emand No. 1

54. Any Investment Proposal made in Railways

should be financially Justlﬁed in which of the
followmg cases ?

1. Proposals meant for welfare of the
pubhc

2. Rroposals which are requested by
Members of the Parliament

3. Plroposals given by State Governments

Select the correct answer using the code given
below :

(a) 1 and 2 only
(b)y 2 I.auld 3 only
© 1,2and3
{d) Nene of the above

55. Members of NRUCC hold office™ for a pened
not exceedmg

(a) 1year
|

(b) 2years
{¢) 5years
(d) 6 years

56. The menf;lbers of the Government Assurances
Committee are nominated by the

(a) Speaker, Lok Sabha
(b) Cabinet
(¢} Minister, Parliamentary Affairs

{d) Speeker, Lok Sabha for Lok Sabha
Members and Chairman, Rajya Sabha
for Rajya Sabbha Members

e

B-RP/WX-0-BB. i
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58.

59.

60.

s

— = T

The Public Accounts

Chairman of the
Committee is appointed by the

(a) Speaker of the Lok Sabha

(b) Cabinet

(¢) Prime Minister of India

{(d) President of India

The Estimates Committee consists of not
more than

{(a) 20 members
{b) 22 members
(c) 30 members

{(d) 32 members

It is said that a cut motion, if passed, has the
power to defeat a Government. Which type of
cut motion has this power ?

(a) Economy cut
(b} Disapproval of policy cut
{¢) Token cut

(d} No confidence cut

The Estimates
examines

Committee of Parliament

(a) Policy underlying estimates
(b) Government Accounts
(c) Estimated Performances

(d) Reasons for delay in submission of the i3
Budget Estimates
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61.

Re-appropriation of Funds is permissible
between

{a) Voted and Charged Expenditure
(b} Demands
(c) Capital and Railway Funds in Demand

No. 16
(d) Various Primary Units of the same
Demand
62. Ex-gratia pension is payable to Railway
employees in receipt of pay upto ¥ 500 per
month

(a) who had rendered not less than 20 years
continuous service and retired prior to
1.4.1957 under the SRPF(C) Scheme

{b) who had joined prior to 1.4.1957 but
retired before completing 20 years
continuous service under the SRPF(C)
Scheme

{c) who joined on or after 1.4.1957 but
retired before completing 20 years

_ continuous service
{(d) None of the above
63. Consider the following statements in respect
of Extraordinary (Pension) Rules, 1993 :

1.  These are applicable to all Railway
Servants whether their appointment is
temporary or permanent.

2.  These Rules will apply to Railway
- servants other than those to whom the
Workmen’s Compensation Act, 1923
applies.

3. These are applicable to Group ‘C’ staff
only,

Which of the above statements is correct ?

(a) 1lonly

(b) 2only

{c) 3only

(d) None of the above

B-RP/WX-0-BB.

64.

65.

66.

(18— A)

Railway Accounts Department and FA & CAO
function under the administrative control of

(a) General Manager of the Zonal Railway
concerned

(b} Financial Commissioner, Railways
(c) Chairman, Railway Board

(d) None of the above

Service in which of the following capacities
does not qualify for pension ?

1. Work done on payment of fee or

honorarium

2. Joining time to a railway servant
transferred at own request and not in
public interest

3. Period of service treated as dies-non

4. First 2 years of apprenticeship of
Special Class Railway Apprentice

Select the correct answer using the code given
below :

(a) 1,2and3only

(b) 1,3 and 4 only

(¢) 2and4only
(d 1,2,3and4

On attaining the age of 90 years to less than
95 years, how much additional quantum of
pension is payable ?

(a)  30% of basic pension
(b)  40% of basic pension
(e)  50% of basic pension

{(d) 100% of basic pension
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67. Railway employees are allowed commutation
of pension upto 40% under the Liberalised
Pension Rules. Upto how many years can the
pensioner apply for commutation after
retirement without any medical examination ?
(a) Within 5 years of the date of retirement
(b) Within 3 years of the date of retirement
{c) Within 2 years of the date of retirement
(d) Within 1 year of the date of retirement

68. What is the rate of family pension payable as
per the recommendations of 6% Pay
Commission ?

(a) B0% of basic pay in all cases and subject
to a minimum of ¥ 5,000 per month and
maximum of 40% of the highest pay in
the Government

(b) 40% of basic pay in all cases and subject
to a minimum of ¥ 4,000 per month and
maximum of 30% of the highest pay in
the Government

{c} 30% of basic pay in all cases and subject
to a minimum of ¥ 3,500 per month and
maximum of 30% of the highest pay in
the Government

(d)  25% of basic pay in all cases and subject
to a minimum of ¥ 3,500 per month and
maximum of 30% of the highest pay in
the Government

B-RP/WX-0O-BB.

69.

70.

71.

T2,

(20-A)

Which authority has the full power to make
rules of general application to Group ‘C’ and

Group ‘D’ Railway Servants under their

control ?
{(a) HOD
(b) DREM

(¢) General Manager
(d) Railway Board

The service of an apprentice shall be liable for
termination on

{a) One week’s notice
(b} Two week’s notice
(¢) Three week’s notice

(d) Four week’s notice

Which one of the following statements is
correct ?

(a) Supernumerary posts are permanent
posts created for one year only.

(b) Supernumerary posts are temporary
posts created for a limited period.

(¢} Supernumerary posts are temporary
posts created for one year only.

(d) Supernumerary posts are permanent
posts created for a limited period.

The introduction of a New Revised Scale of
pay for a particular category of Railway
Servants (Group ‘C’ and ‘D’) requires prior
sanction of which one of the following
authorities ?

(a) Division Office of the Railway concerned
(b) FA & CAO of the Railway concerned

{(¢) General Manager of the Zone concerned
(d) Railway Ministry
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73.

The power to interpret the Rules contained in
Indian  Railway  Establishment Code,
Volume-I lies with

(a) Secretary, Railway Board
(b) Member (Staff), Railway Board
(¢) Chairman, Railway Board

(d) President of India

74. ‘Average Pay means
{a)  Average pay of the last month of service
(b) Average pay drawn throughout the
service
(c)  Average monthly pay earned during the
ten complete months immediately
preceding the month in which the event
occurs
(d) Average monthly pay earned during the
twelve complete months immediately
preceding the month in which the event
occurs
75. An ‘Apprentice’ means
(a) A person deputed for training in a trade
or business with a view to employment
in Railway Service
(b) A person selected for doing some job for
a limited period of time
(¢)  An outsider who comes for internship in
the Railways for enhancing his skills
(d} An outsider who is taken temporarily as
a helping hand in a Railway Production
Unit
B-RP/WX-O-BB.

76.

717.

78.

(22-A)

What is ‘Compulsory Waiting’ ?

(a)

(b)

(c)

d

‘Family’ of a Railway Servant includes which

of the following ?
1. His legally divorced wife
2.  His parents even if they are not wholly

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

The authority competent to
appointment to Group ‘C

The period between declaration of
results and issue of appointment letters

The period between issue of
appointment letter and actual joining

The peried during which an employee is
waiting for orders of posting on a
particular post, after he has reported for
duty

None of the above

dependent upon him

1 only
2 only

Both 1 and 2

Neither 1 nor 2

make first
and ‘D’ posts in

3

Railway Board is

{a)
(b)
(e)

(d)

Minister of Railways
Chairman, Railway Board

Joint Secretary and Under Secretary
respectively, Railway Board

Secretary, Railway Board
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75.
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Consider the following in respect of ‘Tenure
Post”: '
1. Itis a permanent post.

2. It can be held by a Railway Servant for
a limited period of time.

Which of the above statements is/are correct ?
(a) 1lonly

(b} 2only

(c) Bothland?2

(d) Neither 1 nor 2

Consider the following statements ;
1. Leave can be claimed as a matter of
right.

2, The leave sanctioning authority cannot
alter the kind of leave applied for.

3.  Leave can be refused or revoked by the
Competent authority.

Which of the above statements are correct 7

"{a) 2and3only

(b) 1land3only
(¢) 1land2only
(d) 1,2and3

Consider the following statements :

‘1.  The maximum continuous period of

leave that can be granted to a Railway
Servant is five years.

2. Unless the President of India, in view of
the exceptional circumstances of the
case otherwige determines, no Railway
servant shall be granted leave of any
kind for a continuous period exceeding
5 years. '

- Which of the above statements is/are correct ?

(a) 1lonly
{(b) 2only
(¢) Bothland?2

(d) Neither 1 nor 2

82,

83.

84.

(24 -A)

Any post outside the Cadre of a regular
service is declared as a Tenure Post by the

{(a) President of India

(b) General Manager of the Zonal Railway
concerned

(¢} Chairman, Railway Board

(d) Divisional Railway Manager of the
Division concerned

Which one of the following statements is
correct ?

{a) A Railway Servant cannot be recalled to
duty during the period of his sanctioned
leave.

(b} A Railway Servant has to be given
adequate prior notice before he can be
recalled to duty.

(¢) Only those Railway Servants who are
available in the Headquarters during
the period of leave can be recalled to
duty.

(d) If a Railway Servant is recalied to duty
before expiry of sanctioned leave, it
shall be treated as compulsory.

Which one of the following statements is
correct ?

If a Raillway Servant remains absent after
expiry of leave

(a) He is treated to be on the same kind of
leave he had been sanctioned

(b) He is entitled to leave salary for the
period of such absence

(c} He is not deemed to be on leave on Half
Average Pay even if such leave is due

{d} He renders himself liable to disciplinary
action
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85.

Which one of the following statements is
correct ?

(a) A probationer is governed by the same
Leave Rules as the other permanent
Railway Servants.

(b) A probationer will be governed by the
Leave Rules only on completion of
probation.

(¢) A probationer shall not be entitled to
Casual Leave.

(d) A probationer shall not be entitled to
Leave on Average Pay.

86. A Railway servant other than the one who is
serving in Railway School shall be entitled to
leave on Half Average Pay for how many days
in respect of each completed year of service ?

(a) 25 days
(b) 20 days
{(¢) 15days
(d) 10days

87. Consider the following statements :

1.  Maternity leave can be taken only after
availing of all other kinds of leave.

2, Maternity Leave can be combined with
any other kind of leave,

3. Maternity Leave shall not be debited
against the leave account.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 and 3 only

(¢) 2only

(d 1and3only

B-RP/WX-O-BB.

88.

89.

90.

(26—A)

Consider the following statements :

1. Study Leave shall count as service for
promotion.

2. Study Leave shall count as service for
pension.

3. Study Leave shall count as service for
seniority.

4.  Study Leave shall count as service for
increments.

Which of the above statements are correct ?

(a) 1and2only

(b) 3 and 4 only

(¢} 1,2and3only

(d) 1,2,3and4

‘Competent Authority’ means

(a) An officer who has the competence to
act in an authoritative manner

(b) An officer whose competence has been
tested by a higher authority

(¢) The President or the Authority to whom
his powers have been delegated

{d) None of the above

Who reserves the right to withhold or
withdraw pension in respect of a Railway
servant ?

(a) The Accountant General

(b) The Department of Administrative
Reforms and Public Grievances

{¢) The Ministry of Finance
{(d) The President of India
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92.

93.
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Under D&A Rules, the following penalties are
imposed :

1.  Withholding of the Privilege Passes or
Privilege Ticket Orders or both

2.  Withholding of increments of pay for a
specified period with further directions
as to whether on the expiry of such
period this will or will not have the
effect of postponing the future
increments of pay

3.  Withholding of promotion for a specified

period
Which of the above constitute major
penalties ?
{a) 1land2only
(b) 2only
(¢} Sonly

(d) Neither 1l nor2nor3

The present day formats of Demands for
Grants for Railways have been prescribed by

(a)
{(b)
{¢} Estimates Committee

(d)

Railway Convention Committee

Public Accounts Committee

Standing Committee
As per Conduct Rule 22, a Government
Servant

1.  shall not appear in a public space in a
state of intoxication.

2. shall not use any intoxicating drink or
drug to excess.

Which of the above statements is/are correct ?

{a) 1only

(b) Z2only

(¢) Bothland?2
(d) Netther 1 nor 2

94,

95.

06.

97.

(2B-A)

No appeal shall lie against

1. Any Order made by the President of
India

2.  Any Order of an interlocutory nature,
other than an order of suspension

3. Any Order passed by an inquiring
authority in the course of an inquiry
under Rule 9

Which of the above is/are correct ?

(a)

(b}

{¢) 1land3only

(d) All of the above

1 only
2 only

What is the time limit for revisionfreview
petition from the date of delivery of the Order
sought to be revised or reviewed ?

{a) 40days
(b) 45 days
{c) 50days
(d) 55days

Which physical defect of a .candidate
disqualifies him/her for a clerical post ?

(a) Deafness and squint

(b) Loss of one eye
{¢) Squint and stammering
(d) None of the above

All claims for reimbursement of medical bills
be preferred within how many months from
the date of completion of treatment as shown
in the Essentiality Certificate ?

{(a) Within a month
(b) Within 3 months
{¢} Within 6 months

(d} Within a year
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99.

100.

101.
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@

A Railway Servant in Group ‘C’ Service/Post,
may by giving notice of not less than %
months in writing to the Appointing
Authority, retire from service after completing

‘v’ years of servicee. What are x and y

respectively equal to ?
(a) 3and30
(b) 3and20
(c) 1and30
(d) 1land20

How much extraordinary leave under special
circumstances can be granted without Medical
certificate to a temporary Railway Servant ?

(a)
(b)
(e)

3 months
6 months
9 months

1 year

How much maximum leave can be granted to
a Railway Servant when a Competent
Punishing Authority has decided to dismiss,
remove or compulsorily retire him from
Railway service 7

(a)
(b)
{c)

(d)

3 months
6 months
9 months

Cannot be granted

What is the period within which an employee
should submit his explanation as specified in
the Charge Sheet Form ?

(a)
{(b)
(e
(d

5 days

10 days
15 days
30 days

102.

103.

104.

105.

(30-A)

The amount meted out of the Contingency
Fund of India for the new service / new
instrument of service has to be resumed back
to the Contingency Fund

(a) through a Supplementary Demand for

grants during the year _
(b) through Revised Estimates for the
current year

(c) through Budget ZXstimates for the

ensuing year

(d) by taking loan from the Ministry of
Finance
What 1s the time limit upto which

commutation of pension can be requested by
the pensioner without Medical Certificate ?

(a) 1year

(b) 2 years

(c) 5years

(d) There is no time limit
Unpaid Wages beyond three years

(a) are returned to the Consolidated Fund

of India

{b) are utilised by the Railway Unions
{¢) goto Railway Staff Benefit Fund
{d) go to Railway Safety Fund

Consider the following statements with
regard to post retirement complimentary
passes :

1, Post retirement complimentary passes
will not be issued to those who are
dismissed from service.

2. Post retirement complimentary passes
will not be issued to those on whom
penalty of cent per cent cut in pension
and gratuity has been imposed on or
after 20.01.2005.

3. Post retirement complimentary passes
shall be issued to dismissed Railway
servants from the date of grant of
compassionate allowance.

Which of the above statements are correct ?

(a) 1and2only
(bh) 2and3only
(¢} 1and3only
(d 1,2and3




98.

99,

100.

g T AN HORE W wHAW PR
ittt fofga # Aifdg e St o 9w @
HN H T E, vy I8 H B FE F 9€ W9 A
foe g gt & | x 3 y o Read suw
g7
(a)
(b)
(c)
(d)

3 3R 30
3 3T 20
13 30
13 20

forelt areamht Y& w=d # forew wfifedfeat A,
for faferear yaore &, fohall sraamor gt
wiga & 5 Fhdt B 2

(a) 399

(b) 6HMH

() 947H

(@) 1%

el Yo ofnd A, o R wam G SR
3 30 o A @ veoE w9, R W FFETh

- fgn v = Rt = o 2, R

101,

B-RP/WX-0-BB.

Aftrran ggl Wiga &I 51 wFd1 § 7
(a) 39"
(by 6HMHE
(¢) 9HH

(d) Edffpa A& it S HHAL

AT v wiK ¥ fou e fafde & argan fedt
HETd = 3 wedie e smafy & s
THA BT AEY ?

GRECH

10 T

15 f&q

30 f&7

102.

103.

104.

105.

(31-A)

i "9t /8a & 98 U & foru Wi f

e [fy € @ i ofit + Fes mem

o aniGerar fAfr § aom wwife fean sman

27

(a) a9 F U9 FISHS & [TF A 5 WreAn
£

(b) =] 9 & foru Eenfa e % HTeAH
-\q ,

(¢) W 9y o fAY Soi¢ Trrbel % HIEaH
|

() T G ¥ R0 T

Syt g, fafeeean womms few femn, faa

I 9% % 9eE % Ui & STy

P awar 2 7

(@) 199

(b) 2N

() 5

(@) ¢ g 78}

1 v ¥ 31 ¥ Auew I

(a) WHE ) gfaa A ag = oo €

(b) Yo gfREt g SuE = fon o E

(@ & FHa feqewy fafy <1 = 9 €

(&) 1o ween i = = 9 8

TPt swia e ot & ant d fetafea

Forl W famm i .

1. daifgfn Iwa wrd gm TR 9d T
fory TR forg O @ s fem a2

2. Garfighy Iuta w9 3Tl S
fru smit 9 W 20.1.2005 Y T| IWH
I U9 M IueH T yE-wfgwd s
F1 <2 ARG fopm man 2

3. Fafagha swva wert ww s fee M
& HHEfE St gHn W 'wE e 9w
&1 fafy @ I fomg wndd |

ST weAl W W A wE E 2

(a) Fad 172

(b) Hadd 23R 3

(c) <had 13T 3

(d) 1,23MN3




106. ‘Cadre’ means
(a) Total number of employees working in
an office
(b} Members and office bearers of the
recognized unions
{¢) Name of a particular Service or
Department
(d) Strength of a service or a part of service
sanctioned as a separate unit
107. ‘Leave Salary means
(a) Salary received after the Railway
Servant leaves a particular post
(b) Cash equivalent of leave not availed of
{c) Monthly amount paid to a Railway
Servant while on leave
(d) None of the above
108. Consider the following statements :
1. Casual Leave is not recognised under
. the Leave Rules.
2. Casual Leave can be wused to
prefix/suffix any other kind of leave.
Which of the above statements is/are correct ?
(&) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
B-RPAMWX-O-BB.

109.

110.

111,

112,

(32-A)

Consider the following statements in respect
of Maternity Leave :

1. It cannot be granted in cases of

miscarriage,

2. It cannot be granted in cases of

abortion.

3. It cannot be granted in cases of bringing
up an adopted child.

Which of the above statements isfare correct ?

(a) 1land3only
(b) 2and3only
(c) 2only
(d) 3only

The Gazette of India is published in

(a) 2parts
(b) 3 parts
(¢) 4 parts
{d} 5 parts

When additions to Rolling Stock are made,
the cost of such additions should be charged
to

(a) Capital Fund

(b) State Benefit Fund

{(c) Development Fund

(d) Depreciation Reserve Fund

Except when connected with the relaying of
permanent way and/or replacement of and
changes in the type of sleepers, the cost of
additions of ballast after 3 years of opening of
a new line shall be charged to

(a) Capital

(b} Capital Fund
(c)
(d)

Depreciation Reserve Fund

Ordinary Revenue
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113.

Payments to General Revenues is budgeted
under which Demand ?

(a) Demand No. 16

(b} Demand No. 15

(¢) Demand No. 14

(d) Demand No. 10

114. The expenditure on ‘Survey Project’ in the
first instance is charged to the head

1. 345-A or B- Indian Railways Policy
Formulation, Direction Research and
other Miscellaneous Organizations.

2. When the construction of the project is
completed, it is transferred to the
project concerned, irrespective of the
year in which the original expenditure
was incurred.

Which of the above is/are correct ?

(a) 1lonly

(b) 2only

{(c) Both1land2

(d) Neither 1 nor 2

115. Operation of Contingency Fund of India for

Railways is vested on which Authority in

Railways ?

{a) The Minister of Railways

(b} Chairman, Railway Board

(c) Financial Commissioner, Railways

{(d) Additional Member, Budget

116, Which one of the following office expenditures
is not charged as ‘Contingent Charges’ ?

(a) Furniture and other office appliances

(b) Conveyance

(¢) Expenditure on stationery

{(d) Compensatory allowances

B-RPMWX-0-BB.

117.

118.

119,

120.

(34-A)

The Demand for an excess grant is based on
the recommendations of

(a) Public Accounts Committee

(b) Comptroller and Auditor General of
India

(¢) Deputy Comptroller and Auditor
General for Railways

(d) The Financial Commissioner, Railways

Hindi Salahkar Samitis should have how

many members as the non-official members ?

(a) 2 each from Lok Sabha and Rajya
Sabha

(b)
(c)

2 members from Rajya Sabha only

4 members from Lok Sabha and 2 from
Rajya Sabha

4 members from Lok Sabha and 1 from
Rajya Sabha

(d)

‘Charged’ expenditure has been enshrined in
the Constitution of India under Article

(a) 113(1)
(b) 113(2)
() 113(3)
(d) 113(4)

The Chairman of the Office Council is

(a) Chairman, Railway Board
(b) Secretary, Railway Board
(c) Member (Staff)

(d) Joint Secretary, Railway Board
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Note : English version of the instructions is printed on the front cover of this Booklet.
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